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HEADBAND #06/14	 	

SIZE M (54–57 cm), Height 11 cm  	 B

 
MATERIALS Lamana Bergamo (75% Merino Superfine, 25% Baby Alpaca, approx. 65 m/25 g) 50 g in colour 
Walnut 58M, 4 mm knitting needles, cable needle, tapestry needle
 
PATTERN NOTE  
Main pattern: half brioche stitch: 
Row 1 (WS): 3 selvedge sts (see instruction below), *k 1, yf sl 1 yo, repeat from * to last 4 sts, end with k 1,  
3 selvedge sts 
Row 2 (RS): 3 selvedge sts, *p 1, k 1 tog with yo, repeat from * to last 4 sts, end with p 1, 3 selvedge sts. 
Repeat rows 1 and 2 
 
3 selvedge sts:  
Row 1 (WS): sl 1 wyif, k 1, sl 1 wyif 
Row 2 (RS): k 1, sl 1 wyif, k 1. 
Repeat rows 1 and 2 
 
Gauge: 21 sts and 34 rows in main pattern = 10 � 10 cm
 
HOW TO Cast on 25 sts, start work with a WS row and work 81 rows in half brioche st. In next RS row work 
cable pattern as follows: slip first 12 sts on cable needle and hold at back, work next 13 sts as follows: 3 
selvedge sts, 10 sts in half brioche st, end with k 1. Now work 12 sts on cable needle as follows: kfb in first st, 
*p 1 , k 1 tog with yo*, rep from * to * to last 4 sts, end with k 1 , sl 1 wyif, k tog the last 2 sts (k tog 1 st with yo 
and p 1). From next WS row continue in half brioche st and after 79 more rows cast off all sts.
 

TO FINISH Join back seam, weave in ends. Let piece dry under a wet cloth.
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ABBREVIATIONS
 

k  = knit 
p = purl 
st(s) = stitch(es) 
WS = wrong side 
RS = right side 
yo = yarn over 
yf sl 1 yo = with yarn in front slip next st purlwise, then yarn over 
sl = slip 
wyif = with yarn in front 
kfb = knit into front and back of st (make 2 sts out of 1) 
tog = together 
 
 
SKILL LEVEL

A   easy      B   intermediate      C   advanced

 
 
 


